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-$8� "-$-<� -$-.� 7<$.6� 7>$88� 78$,A� 76$76� 79$-.� 79$A8� 7.$.8� 7A$A.�
7� "-$>>� -$-.� 7>$7>� 7>$.7� 78$8<� 76$>-� 79$<>� 7.$,8� 7A$,,� ,-$>7�
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,� "-$A,� -$-A� 7<$6.� 7>$<<� 78$-8� 78$A<� 76$A<� 79$A,� 7A$-<� ,-$>.�
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<� "7$7A� -$-A� 7<$,A� 7<$A<� 7>$6>� 78$8>� 76$89� 79$6>� 7.$.>� ,-$>6�
<$8� "7$<-� -$-A� 7<$76� 7<$9A� 7>$87� 78$>,� 76$>6� 79$86� 7.$.7� ,-$8>�
>� "7$<.� -$7-� 7<$-6� 7<$6A� 7>$>,� 78$<<� 76$>-� 79$8>� 7.$.8� ,-$98�
>$8� "7$>6� -$7-� 7<$--� 7<$6>� 7>$<9� 78$<7� 76$>7� 79$8.� 7.$A9� ,-$A9�
8� "7$8,� -$7-� 7,$A9� 7<$67� 7>$<6� 78$<,� 76$>6� 79$6A� 7A$76� ,7$<>�
8$8� "7$8.� -$7-� 7,$A>� 7<$6-� 7>$<6� 78$<8� 76$8<� 79$.<� 7A$>-� ,7$9>�
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77� "7$><� -$7>� 7<$A8� 7>$..� 78$AA� 79$8-� 7A$>-� ,7$67� ,>$87� ,A$<6�
77$8� "7$<A� -$7>� 7>$7.� 78$7>� 76$,.� 79$.<� 7A$9.� ,,$->� ,8$--� ,A$..�
7,� "7$<6� -$7>� 7>$>8� 78$><� 76$6-� 7.$7A� ,-$7.� ,,$>.� ,8$>9� <-$>9�
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7<$8� "7$,9� -$7>� 78$<8� 76$>-� 79$6>� 7A$<-� ,7$<6� ,<$97� ,6$9-� <7$><�
7>� "7$,8� -$7>� 78$68� 76$97� 79$A9� 7A$6>� ,7$97� ,>$-8� ,9$-7� <7$9,�
7>$8� "7$,<� -$7>� 78$A,� 79$--� 7.$,9� 7A$A8� ,,$-,� ,>$<8� ,9$,6� <7$.7�
78� "7$,-� -$7>� 76$7.� 79$,6� 7.$8<� ,-$,,� ,,$,.� ,>$8A� ,9$>8� <7$.6�
78$8� "7$7.� -$7<� 76$>-� 79$>A� 7.$96� ,-$>8� ,,$8-� ,>$99� ,9$89� <7$.8�
76� "7$76� -$7<� 76$6-� 79$6A� 7.$A6� ,-$6>� ,,$69� ,>$A7� ,9$68� <7$9A�
76$8� "7$7<� -$7<� 76$9.� 79$.9� 7A$7>� ,-$.7� ,,$.,� ,8$-,� ,9$6A� <7$97�
79� "7$77� -$7<� 76$A8� 7.$->� 7A$<7� ,-$A6� ,,$A8� ,8$77� ,9$9,� <7$67�
79$8� "7$-A� -$7<� 79$77� 7.$,-� 7A$>9� ,7$77� ,<$-9� ,8$,-� ,9$9>� <7$87�
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<� "7$69� -$-A� 7<$88� 7>$7<� 7>$9A� 78$6,� 76$8A� 79$6,� 7.$.,� ,-$87�
<$8� "7$98� -$-A� 7<$>>� 7>$-7� 7>$69� 78$87� 76$8-� 79$86� 7.$.-� ,-$67�
>� "7$.-� -$-A� 7<$<6� 7<$A>� 7>$6-� 78$>8� 76$>6� 79$8>� 7.$.<� ,-$6.�
>$8� "7$.8� -$-A� 7<$<-� 7<$..� 7>$88� 78$>,� 76$>8� 79$86� 7.$A-� ,-$.9�
8� "7$..� -$-A� 7<$,>� 7<$.<� 7>$87� 78$>-� 76$>6� 79$67� 7A$-,� ,7$79�
8$8� "7$A-� -$7-� 7<$,-� 7<$.-� 7>$8-� 78$>-� 76$8-� 79$97� 7A$7A� ,7$8,�
6� "7$A,� -$7-� 7<$7.� 7<$9A� 7>$87� 78$>8� 76$8A� 79$.6� 7A$>>� ,7$A,�
6$8� "7$A,� -$7-� 7<$7A� 7<$.,� 7>$86� 78$8<� 76$9<� 7.$-9� 7A$96� ,,$>-�
9� "7$A,� -$77� 7<$,<� 7<$..� 7>$6>� 78$66� 76$A,� 7.$<>� ,-$78� ,<$-9�
9$8� "7$A,� -$77� 7<$,A� 7<$A6� 7>$96� 78$.,� 79$7>� 7.$68� ,-$6-� ,<$.7�
.� "7$A7� -$77� 7<$<9� 7>$-9� 7>$A-� 76$-7� 79$>-� 7A$-7� ,7$77� ,>$6,�
.$8� "7$.A� -$7,� 7<$>6� 7>$7.� 78$-8� 76$,7� 79$6.� 7A$<.� ,7$6>� ,8$>.�
A� "7$.9� -$7,� 7<$86� 7>$<7� 78$,7� 76$>,� 79$A9� 7A$9.� ,,$,7� ,6$88�
A$8� "7$.8� -$7<� 7<$69� 7>$>8� 78$<.� 76$68� 7.$,9� ,-$7A� ,,$9.� ,9$<>�
7-� "7$.<� -$7<� 7<$.-� 7>$6-� 78$89� 76$.A� 7.$8.� ,-$6-� ,<$<8� ,.$<8�
7-$8� "7$.-� -$7<� 7<$A>� 7>$9.� 78$9.� 79$7>� 7.$A7� ,7$-,� ,<$A7� ,A$,7�
77� "7$99� -$7>� 7>$77� 7>$A9� 76$--� 79$>7� 7A$,>� ,7$><� ,>$>8� <-$77�
77$8� "7$98� -$7>� 7>$<-� 78$7.� 76$,>� 79$9-� 7A$8.� ,7$.>� ,>$A6� <-$6<�
7,� "7$9,� -$7>� 7>$8-� 78$>7� 76$8-� 79$AA� 7A$A<� ,,$,8� ,8$>>� <7$<.�
7,$8� "7$6A� -$7>� 7>$9<� 78$66� 76$99� 7.$<-� ,-$,9� ,,$6>� ,8$..� <7$9,�
7<� "7$66� -$7>� 7>$A9� 78$A,� 79$-6� 7.$6,� ,-$6,� ,<$-7� ,6$,.� <,$-.�
7<$8� "7$6<� -$7>� 78$,<� 76$7A� 79$<8� 7.$A>� ,-$A9� ,<$<.� ,6$6>� <,$>8�
7>� "7$67� -$7>� 78$8-� 76$>.� 79$68� 7A$,6� ,7$<-� ,<$9,� ,6$A9� <,$67�
7>$8� "7$8.� -$7>� 78$99� 76$96� 79$A6� 7A$8.� ,7$6<� ,>$-8� ,9$,6� <,$9A�
78� "7$88� -$7>� 76$->� 79$-8� 7.$,8� 7A$.A� ,7$A8� ,>$<6� ,9$8<� <,$A6�
78$8� "7$8,� -$7<� 76$<7� 79$<<� 7.$88� ,-$7A� ,,$,6� ,>$68� ,9$99� <,$A>�
76� "7$>A� -$7<� 76$89� 79$6-� 7.$.<� ,-$>.� ,,$88� ,>$A,� ,9$AA� <<$77�
76$8� "7$>9� -$7<� 76$.<� 79$.9� 7A$77� ,-$99� ,,$.<� ,8$7.� ,.$,-� <<$-A�
79� "7$>>� -$7<� 79$-.� 7.$7<� 7A$<.� ,7$->� ,<$7-� ,8$>>� ,.$>-� <<$,>�
79$8� "7$>7� -$7<� 79$<,� 7.$<A� 7A$6>� ,7$<7� ,<$<6� ,8$6.� ,.$6-� <<$,7�
7.� "7$<A� -$7<� 79$86� 7.$6<� 7A$.A� ,7$89� ,<$67� ,8$A7� ,.$9.� <<$7A�
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